N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 2 2 2
8 8 g 8
s 8 o
a
10° E
10?
104
3 R EEE AR R AR
¢ T == LEEEJ
© Il 1
= 1’ "H i T M T ‘H‘U '\um “\ A ‘ T |m . ™
] \‘ ‘HWJ ‘* | H \““‘ H\‘HHH\H Hiil \ W \ |
1l L Hs mnw w 1S | e
925 -20-15-10-5 0 5 10 15 20 25 5’25 -20- 15 10-5 0 10 20 25 925 -20- 15 10-5 0 5 10 15 20 25 —=25-20-15-10-5 0 5 10 15 20 25

track dxy (cm) track dx (cm) track dxy (cm) track dxy (cm)

N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |

N of reco track vs dz

[

[4] 1] 2] 1]
£ 2 g 8
8 8 8 8

=

=]

k=]
9 ° o 9
3 I : 3 ] =
o II ; %f# : q 24 o 14

} i #rﬁi% il L i AL
0%55 —20 = 1o 20 30 0930 20 -10 0 10 20 30 0¥ 20 10 0 10 20 30 % 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


